H = 0l &F AF 2 Z Al A
SN OlHESAIS &
M T ADHE
S LSRN AISEAMS (&2 &2
= T o = = 1 I|_-|LI;=|_||:_ =
2N -3 - c2(3H) - NEME - HES Ol & Ol A o8 Hns
Olch & eFAb 20,497,507 9,292,520 11,204,987
= 5,068,000
= 11,649,000
J| 1,332,000
= 4,500
= 2,444,007
S AN 10,024,040 7,040,450 2,983,590
= 15,000
= 9,900,000
= 4,500
= 104,540
HEEXX 7 AIEAY 9,619,040 6,714,500 2,904,540
2 9,600,000
= 19,040
DicHEer AP R =& 3,000 0 3,000
203 PR =&l 3,000 0 3,000
03 AIMFERQRF=EIH| 3,000 0 3,000
o ZMLFIAIY & ONFIAY F=A
3,000,000 3,000
NS XX 7 JIBFAIE AL 9,616,040 5,507,500 4,108,540
= 9,600,000
[ 16,040
201 223 9,240 3,500 5,740
01 AP 2eltl 9,240 3,500 5,740
< 2 EH| > 0
o IINL X FAAY =&
7,000 *» 3% * 160 3,360
o WHE0E =24 &L TAQ X FA
7,000 * 3% » 140 2,940
o S AFUHBHE X Z&AIY F=&
7,000 » 3% * 140 2,940
202 o4 | 6,800 4,000 2,800
01 2LH0oHI 6,800 4,000 2,800
o IINLEIXAAMY =&
20,000 = 2% = 70 2,800
o #HE0E X4 L TALQ =X
20,000 * 2% * 50 2,000
o CHEHSl APFTHBHEHRl =& AHE F=&
20,000 = 2% * 50 2,000
401 AlEHIL 200 9,600,000 5,500,000 4,100,000
= 9,600,000
01 Al&HI 9,566,461 5,475,509 4,090,952
o EYMSACI =2 MNAEZZ2(1.1km)
1,500,000,000 * 14] 1,500,000
= 1,500,000
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FA: DIHEEASE
R TAIHE

Sl HEERX T AAL (Sl &)
_ _ _ N E
SNBSS - HRAY - BHES 0 & o4 o HIRZE2
o SHENBESIHA MYT2(1.4kn)
2,120,000,000 * 14} 2,120,000
2 2,120,000
o LeIlsNYARSR AYT2(1.8m)
1,700,000,000 * 14! 1,700,000
z 1,700,000
o CHEF?l APDITHBHERXI 212 S 2 (1.8km)
1,216,461,000 * 14! 1,216,461
z 1,216,461
o HEH=0IS HVT2(1.1kn)
2,780,000,000 * 14} 2,780,000
z 2,780,000
o BEY MEHZH E&(60,916M)
250,000,000 * 141 250,000
z 250,000
03 Al&=THYl 33,539 24,491 9,048
o BYMRACK U HACR
1,500,000,000 * 0.36% 5,400
z 5,400
o SHPNBSSTHA NYZE
2,120,000,000 * 0.36% 7,632
z 7,632
o ULIlaNgaeen N2
1,700,000,000 * 0.36% 6,120
z 6,120
o HEF?l AIDIHEHEIX HY e’
4,379,000 * 14! 4,379
2 4,379
o HEH=OIS HAT2
2,780,000,000 * 0.36% 10,008
z 10,008
TAE RIAL 30,000 0 30,000
2 15,000
= 4,500
2 10,500
SASERIKI AL 30,000 0 30,000
2 15,000
= 4,500
2 10,500
101 @121t 2,000 0 12,000
2 6,000
= 1,800
2 4,200
VIBIEDTEES TR 2,000 0 12,000
o CARRIXAME 2¢
1,200,000 * 1% * 102 12,000
2 6,000
= 1,800
2 4,200
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SA: OlcHEEAL E
A S ADNY

Sol: ZAIB RXAY (Etel: & e
_ _ _ N E
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K @Egj Hws2
201 ety 6,000 0 16,000
= 8,000
= 2,400
= 5,600
01 At2zH2lH| 6,000 0 16,000
o ZAYRIXVHE Sl 400,000 * 102 4,000
= 2,000
= 600
= 1,400
o ZAURIXNBMEH S22
200,000 * 53 1,000
= 500
= 150
= 350
o ZAURIXNAMY 2Ygols| Fa+y
100,000 * 58 « 23 1,000
= 500
= 150
= 350
o CAUSERIXNAANY E22 M
2,000,000 * 53 10,000
= 5,000
= 1,500
T 3,500
202 01l 2,000 0 2,000
= 1,000
= 300
= 700
01 2UfoiH| 2,000 0 2,000
o TAUSERIXNBAY S
20,000 * 2% * 502 2,000
= 1,000
= 300
= 700
S RIOH 2t ALY 375,000 0 375,000
= 300,000
= 75,000
HEUS0IS BN AY 375,000 0 375,000
= 300,000
= 75,000
401 AlEHIL2OHY] 375,000 0 375,000
= 300,000
T 75,000
01 A& 375,000 0 375,000
o BEHS=0IS BBENZ AFZA
375,000,000 * 14! 375,000
= 300,000
= 75,000
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SESNIEE (Erol: @2
= X o 3 = 1k Il_-ILjL:_ =
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRs2

SSMEE 1,710,260 2,057,660 347,400
z 1,689,000
= 21,260
o2 =AY =4 1,710,260 2,057,660 A 347,400
= 1,689,000
i 21,260
EUS 22U A (MEZAY) 1,589,000 1,924,000 A 335,000
= 1,589,000
201 L2y 18,000 17,500 500
z 18,000
01 At 22l 18,000 17,500 500
o XY 2Y 24T S
250,000 * 729H 18,000
= 18,000
301 Ypt8asg 2,000 2,500 A500
= 2,000
10 HAAHIZ &3 2,000 2,500 A500
o XNABTE AV BAAHIRY S
50,000 » 40 2,000
= 2,000
307 GI2t0I & 230,000 180,000 50,000
= 230,000
04 QIHHALE X 80,000 140,000 260,000
o 223 EHAZ ZdAHMa 80,000,000 * 13 80,000
2 80,000
05 2IIRAE =S 150,000 40,000 110,000
o BUS 22Y 20 A8
50,000,000 * 12| 50,000
= 50,000
o 22US HUEYE CIXQ B2 (H)
20,000,000 * 12| 20,000
= 20,000
o XYBEX EYC w2 DR
80,000,000 * 12| 80,000
= 80,000
401 AlZBIL 2T 1,209,000 1,724,000 A515,000
z 1,209,000
01 Al 959,000 1,624,000 665,000
o S8 ZHOIX & 2 AR BHE 2/xg
HI= 300,000,000 * 1A 300,000
= 300,000
o BUS 2210 WRAIAH HLOISEHY)
659,000,000 * 14! 659,000
z 659,000
04 SHArZ-&H Al & HI 250,000 100,000 150,000
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SN
X XH .
S Tt

el

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
o ZSOLAE(CF, TV, &3l S)
250,000,000 250,000
= 250,000
402 QI2H X201 A 80,000 0 80,000
= 80,000
01 QA E2EEX 80,000 0 80,000
o 223 HEH &4SStAtE 80,000
- 22s HAHAE S48 N
20,000,000 * 14| 20,000
2 20,000
- 223 HEHAS AN XA
60,000,000 * 14 60,000
& 60,000
406 JIEFA=20I A 50,000 0 50,000
& 50,000
01 JIEtRHE0IA 50,000 0 50,000
o MHER Y SE S 500,000 * 10024 50,000
= 50,000
R = DN PNE.] 100,000 120,000 20,000
= 100,000
307 212t01& 100,000 120,000 A 20,000
= 100,000
05 CIZtRIEZ 100,000 120,000 A20,000
o FAEHM =A2Y 100,000,000 * 14 100,000
& 100,000
sZ= ZSH=ANY XA 14,900 12,100 2,800
201 LEt23d| 10,700 9,120 1,580
01 AFR22|H| 10,050 9,120 930
< YBt=ZH| > 0
o ZZH=AY elZF MZE
1,500,000 * 33| 4,500
o e A0IE EHE M
200,000 * 304 * 43| 2,400
< 2 EH| > 0
o 223 IZH=EAMNY FX
7,000 » 3" * 150 3,150
02 22234l 650 0 650
o Z2BH=Ttz €& REZ
250 * 1,00004 = 23l 500
o QOIHY SOl AIBE 150,000 * 14 150
202 (44| 4,200 2,980 1,220
01 =LHAbI 4,200 2,980 1,220
o 22 FHTZHEAMNY FX
20,000 = 3% = 40 2,400
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S A OlcHEEA
M Zopatgdd
& 2328 =

Hl=o =4 (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
o E2E RS2HU=EAMY =X (22)
50,000 » 3% * 12 1,800
2= Hog 24 6,360 1,560 4,800
201 et 4,800 0 4,800
02 3234l 4,800 0 4,800
< BZS2SEHA > 0
o 2= HOY MIIR= & 350,000 = 123 4,200
< Al ZHl=Xdl > 0
o EZS HOY AMERX 2
400,000 * 14 400
o 223 HOE &I1J1+ WAl
200,000 14 200
307 QI2t0I A 1,560 1,560 0
05 BItRE = 1,560 1,560 0
o BUES HIONY POIAG S
130,000 * 12& 1,560
SIS X7 8,709,400 145,600 8,563,800
= 5,053,000
& 60,000
| 1,332,000
= 2,264,400
IONY SR F =8 A= 8,709,400 145,600 8,563,800
= 5,053,000
= 60,000
| 1,332,000
= 2,264,400
SHAALY BIZENE 2 X 3,000 141,600 A 138,600
202 O4Hl 3,000 6,240 23,240
01 =Wl 3,000 6,240 A 3,240
o @YD FH (V)
50,000 = 29 * 30 3,000
s0HE FE2 Z4dAMY 7,649,400 4,000 7,645,400
= 4,555,000
| 1,332,000
= 1,762,400
201 LBt 3| 11,400 4,000 7,400
01 AtS 22l 11,400 4,000 7,400
< gpragy > 0
o s0E FE2 =0 s I L2t
2,000,000 * 13/ 2,000
o A=2 |X E22 MZE 3,000,000 * 13 3,000
o REIR2YUFA A2 NS (FLX)
800,000 * 33 2,400
<egag > 0
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SN DR ARI S
HE: RVPYLETN 7

Sl RODHLEAN D FF H)|E (2o &2
_ _ SIEN
SN EB -GS - MBAY - BES 0 & 24 e HRE2
o WEI2 UEX AFIAVS AV HHAY
200,000 * 10% 2,000
o WEI2 2Y- YUt 4RIV AV FA
=] 200,000 * 102 2,000
401 AlEBIZ 2 ThY| 7,638,000 0 7,638,000
2 4,565,000
| 1,332,000
2 1,751,000
01 Al 7,282,200 0 7,282,200
o B0/E REES x4 7,282,200,000 7,282,200
2 4,565,000
| 1,332,000
2 1,395,200
WRETEI 336,000 0 336,000
o B0E REI2 T4 (4.4%) 336,000,000 336,000
03 Al&=OhH] 19,800 0 19,800
o B0{E REI2 T4(0.26%) 19,800,000 19,800
SEFR ATHAOIHAT XNY2S A X 997,000 0 997,000
2 498,000
2 499,000
401 AlEBIZ 2 ThY| 997,000 0 997,000
2 498,000
2 499,000
01 Al 997,000 0 997,000
o S0/& REI2 ZTAAY =NIT BHYBY
bl 647,000,000 * 141 647,000
2 323,000
2 324,000
o 50{E REI2 ZT&AY =XIT Ny
350,000,000 * 144 350,000
2 175,000
2 75,000
S0E RE2 MSAL 75 60,000 0 60,000
z 60,000
401 AlEBIL2Thb| 60,000 0 60,000
z 60,000
01 Al 60,000 0 60,000
o wEI2 HSAE &X
200,000,000 * 141 * 30/100 60,000
z 60,000
X2 A (DI AT AL E) 53,807 42,810 10,997
ol 2] 27,627 22,122 5,505
IR 27,627 22,122 5,505
101 2124l 24,627 19, 122 5,505
01 B4 23,470 17,965 5,505

- 373 -




SN DIHE A S
o HY2AAH(DINTHSMYES)

S o oo

el elE 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
< =g > 0
o ANzeRRsY
7,761 = 128 x 21A12F « 128 23,470
02 JIetx 2= 1,157 1,157 0
o AMZAZRFE (A TUES)
7,413 x 1H * 13A12t ~ 128 1,157
203 LR =& 3,000 3,000 0
04 REA2SEFFAH| 3,000 3,000 0
= 1521 Ofaot 250,000 » 12& 3,000
Jl2dH| 26,180 20,688 5,492
Jl=&Hl 26,180 20,688 5,492
201 B2 26,180 20,688 5,492
01 AtS2t2itl 21,336 16,844 4,492
< dek=Edl > 0
o SAEA 7Y 25,000 * 158fA « 12 4,500
o HBE EY F7¢ 286,000 = 4CH * 43 4,576
o FAJI EE, EH WA
250,000 » 1CH 44 « 23 2,000
o A ElH 2¢ 120,000 * 22 240
o FAH| ¢ 300,000 = 1CH » 6 1,800
o WHSF 78 2,100
-uE 200 = 8,0000H 1,600
- 43 50 = 10,0000H 500
o AEIQIStE 100,000 123 1,200
o HIANRES 7Y 20,000 » 10& * 128 2,400
o MEBEFR=E 2,520
- S 15,000 * 65 » 12 1,080
- XX 10,000 * 122 » 123 1,440
02 S5=2&H| 4,844 3,844 1,000
<BZRIWHAN > 0
o MRS 150,000 » 1CH = 12& 1,800
o VedYsE 7,000 = 1CH = 128 84
< gZHl > 0
o HEE JtA 2Y 30,000 = 4CH * 8=l 960
< AIEEHISXdl > 0
o JIEt ARES &Il %al
50,000 * 2008 = 23 2,000
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